## Estimated Colorado Mesa University Master of Science in Athletic Training Fees for 2025-2026 Total Program Cost (2-year, In-State Tuition for ALL MSAT Students)

		Tuition \$		CMU Fees	Total CMU	MSAT Course	
<u>Term</u>	<u>Units</u>	/ credit	<b>Total Tuition</b>	/ Credit	<u>Fees</u>	<u>Fees</u>	<u>Total</u>
Summer - Year 1	9	561.75	\$ 5,055.75	40	\$ 360.00	\$ 115.00	\$ 5,530.75
Fall - Year 1	12	565.54	\$ 6,786.48	40	\$ 480.00	\$ 150.00	\$ 7,416.48
Spring - Year 1	12	565.54	\$ 6,786.48	40	\$ 480.00		\$ 7,266.48
Summer - Year 2	4	565.54	\$ 2,262.16		\$ -		\$ 2,262.16
Fall - Year 2	8	565.54	\$ 4,524.32		\$ -		\$ 4,524.32
Spring - Year 2	8	565.54	\$ 4,524.32		\$ -	\$ 40.00	\$ 4,564.32
CMU Total	53		\$ 29,939.51		\$ 1,320.00	\$ 305.00	\$ 31,564.51

Estimated University/MSAT Program Costs &	Fee		
Fees	Originator	Time of Fee	Cost
ATCAS Application Fee	ATCAS	Pre-Program	\$ 96.00
CMU Graduate Application Fee	University	Spring, Year 2	\$ 50.00
CMU Matriculation Fee	University	Pre-Program	\$ 140.00
Textbooks/Resources/Miscellaneous Supplies	MSAT	Continuous	\$ 1,000.00
NATA Professional Annual Membership (\$127/year)	MSAT	Summer (Year1) January (Year1) January (Year2)	\$ 317.50
Background Check and Drug Screen	MSAT	Pre-Program	\$ 150.00
Immunizations, Annual TB Test, Flu Shot	MSAT	Summer (Year1) Summer (Year2)	\$ 250.00
Technology (e.g., laptop, etc.)	MSAT	Continuous	\$ 1,000.00
Typhon Membership (Clinical Placements) - included in ATRN 531 Course Fee	MSAT	n/a	\$ 90.00
myClinicalExchange Access (1 year access) - included in ATRN 531 Course Fee	MSAT	n/a	\$ 39.50
Professional Liability Coverage (HPSO	MSAT	Pre-Program	\$ 40.00
School District (District 51) Background Check	MSAT	Summer (Year 1)	\$ 54.50
CPR Certification Fee - included in ATRN 507 Course Fee	MSAT	Summer (Year 1)	\$ 40.00
CMU Parking Fee (\$140/year)	University	Continuous	\$ 280.00
Travel Costs to Clinical Sites	MSAT	Continuous	Varies
Professional Attire/Clothing (Approx)	MSAT	Continuous	\$ 200.00
Estimated Total			\$ 3,578.00

CMU Tuition & Fees	\$ 31,564.51
MSAT & University Fees	\$ 3,578.00
Total	\$ 35,142.51

Program Total Program Tuition

Resident Non-Resident

CMU 30348 30348 Utah 38877.2 65815.75

## Out of State

		Tuition \$			CMU Fees
<u>Term</u>	<u>Units</u>	/ credit	To	tal Tuition	/ Credit
Summer - Year 1	9	805.7	\$	7,251.30	37
Fall - Year 1	12	839.45	\$	10,073.40	40
Spring - Year 1	12	839.45	\$	10,073.40	40
Summer - Year 2	4	530.45	\$	2,121.80	
Fall - Year 2	8	551.75	\$	4,414.00	
Spring - Year 2	8	551.75	\$	4,414.00	
CMU Total	53		\$	38,347.90	

stimated MSAT Program/University Costs and Fee					
ATCAS Application Fee					
CMU Graduate Application Fee					
CMU Matriculation Fee					
Textbooks/Resources/Miscellaneous Supplies					
NATA Professional Annual					
Membership (\$127/year)					
Background Check and Drug Screen					
Immunizations, Annual TB Test, Flu Shot					
Technology (e.g., laptop, etc.)					
Typhon Membership (Clinical Placements)					
myClinicalExchange Access (1 year access)					
Professional Liability Coverage (HPSO					
School District (District 51) Background Check					
Mental health related training (ATRN 553)					
CPR Certification Fee (ATRN 507)					
CMU Parking Fee (\$140/year)					
Professional Attire/Clothing (Approx)					
Est					

CMU T

To	otal CMU	
	<u>Fees</u>	<u>Total</u>
\$	333.00	\$ 7,584.30
\$	480.00	\$ 10,553.40
\$	480.00	\$ 10,553.40
\$	-	\$ 2,121.80
\$	-	\$ 4,414.00
\$	-	\$ 4,414.00
\$	1,293.00	\$ 39,640.90

Cost				
\$	96.00			
\$	50.00			
\$ \$ \$	140.00			
\$	1,000.00			
\$	254.00			
\$	150.00			
\$ \$	250.00			
\$	1,000.00			
\$	90.00			
\$	39.50			
\$	40.00			
\$ \$	54.50			
\$	50.00			
\$	20.00			
\$	280.00			
\$	200.00			

timated Total \$ 3,714.00

uition & Fees	\$ 39,640.90
MSAT Fees	\$ 3,714.00
Total	\$ 43,354.90